P T PROFESSIONAL EXAMINATION BOARD
@b@’é%ﬂm“"“ Middle School Teacher Eligibility Test - 2018
2nd Mar 2019 9:30 AM

Topic:- Child Development & Pedagogy (CDP)

1) Which of the following statement is true? / eI P aTFYT I 32

1. Growth is only a mental process. / 3 bdd T HHRIS Ulhar H

2. Heredity doesn’t affect on learning process. / 3FaiiRrepdr ifeRTH Ufehar DI gUIfad T8 Bt
3. Development is only a quantitative process. / [T dhadl Teh AT UichdT H

4. Learning is a process of behavioral changes. / 3T dgRe oRadHl &t ufsar |

Correct Answer :-

« Learning is a process of behavioral changes. / 3T &g IRAA &1 UfhaT 8|

2) How many clinical scales were there in the original Minnesota Multiphasic Personality Inventory (MMPI)? / Hdl

frTeT At e weiIferdt 33t (gauadtand) # fFa Aere 3w A2
1. Nine/:ﬁ

2. Eleven / ®Rg

3.Ten/cd

4. Twelve / dRg

Correct Answer :-

3) Which one is NOT the Psychological principle of teaching? / ®1- T Us R&iu1 &1 a1~ Risid 781 872
1. Proceed from known to unknown. / S d I & NI CARCIR dedl %l

2. Proceed from simple to difficult. /Gﬁ IR I BT Bt BﬁTW%I

3. Proceed from complex to simple. /\_rﬁ Sfed § I Bt 3R EET‘IT%I

4. Proceed from concrete to abstract. / Sl R[d Y &I DI 3R Fgal gl

Correct Answer :-

o Proceed from complex to simple. /\_rﬁ Sfed § T F1 3R WT%I

4) Inclusive education is currently a strategy of education based on the based approach. / guTaRht fRrem adur &
SuTia TRHT F SMUR R Rien 1 v A B

1. Sympathy / S8
2. Charity / aI9

3. Apathy / SERIFAT
4. Rights / SHYBPR

Correct Answer :-



. Rights / 3YBR

5) Gender Schema theory was introduced by ./ i wotaT (Sisx i) Rigia %WTW
farmar um

1. Jean Piaget / ST Ot
2. Kohlberg / ﬁ—t{f‘ﬁﬁ

3. Erikson / QﬁTJFFF‘T
4. Sandra Bem / “lesTa'q

Correct Answer :-

« Sandra Bem /FIE}T@'J:[

6) According to Vygotsky’s theory, the most suitable instruction to support social learning is . /W% Rrgia *

SR, AR SRMH T s R ged g s R
1. curriculum / UT&dshH

2. students work together on the task / 9T m R UDh Y hH B % |

3. students’ individual work / ST & SfdavTd BT

4. traditional teaching / URUR fRigor

Correct Answer :-

« students work together on the task / T3 m R U Y hH B % |

7) What are tests that rely heavily on language based reasoning called? /

T U071 HEeTd 7 St UTHT ST adbiiad W ik wva §2
1. Accuracy tests /ARZGAT U&OT

2. Culture fair tests / FRGpTcl SFIHE URIETT

3. Verbal tests / RIS TRT&OT

4. Nonverbal tests / HidbTcicp TLI&UT

Correct Answer :-

« Verbal tests / HIRAP e

8) What aspect of personality makes a child more likely to be outgoing? /

AR & [PT Tgq A 72 & mSemgy (i) 817 &t Juraan g¢ ot 82
1. Extraversion / SfeH@d

2. Introversion / 3@

3. Socialisation / JHTSIEHRUT

4. Neuroticism / W
Correct Answer :-

o Extraversion / a%ﬁ@m

9) Bandura’s 4 principles of social learning are: / ATHTRoTD ST aﬁ@?ﬁa 4 WWW%
1. Metacognition, Attention, Engagement, Motivation/ ﬁaﬁm, &M, 9 STd, BRI



2. Retention, Cognition, Attention, Motivation/ U%W, &Iﬂ'ﬁ[ﬁf, &, TR
3. Attention, Retention, Reproduction, Motivation/ €T, Uﬁ’iﬂTUL ERER RO
4. Attention, Engagement, Collaboration, Motivation/ &1, SgId, 'vFIE'@I"T, TRUT
Correct Answer ;-

« Attention, Retention, Reproduction, Motivation/ &I, EI'I%{?J'R'UT, U, RO

10) Adolescences form their own image and integrate their own ideas as to how they wish to be referred to, this is franR ara=h

A F1 BY T4 § SR 37 W & faaRl &) taigpd ovd & 1 d fre avg Hefifa g amed €, a8 seaman s:
1. Crisis / e

2. Ego identity / 38 Ug=TH

3. Ego ideal /3fg 3fesf

4, Ego/ 38

Correct Answer :-

« Ego identity / 378 Ugd

11) At what age does the child learn to control the expression of emotions? / yraIaii @t fieafaa & fFrfaa o 9= f5
3y e g2

1. Adolescence / TRIRTARIT
2. Birth to two years / STH @Eﬁ GLGED
3. Late childhood / U¥ STcTdRT

4. Early childhood / IR ST

Correct Answer :-
« Early childhood / URTN® STeumawt

12) Which of the following theories acts as a bridge between behavioral and cognitive learning theories? /ﬁmﬁr@aﬁﬁaﬁm o1
Riga SragR 3R AT Siftrmy Rissial & &t ue Ag &1 H11 Hra1 22

1. Humanistic theory / ATFaQTarg! (@W) R

2. Cognitive development theory / SITHIH® faom g
3. Social learning theory / T ST R

4. Existential theory / 3% Rigrd

Correct Answer :-

« Social learning theory | raTore ST R

13) Which of these statements is true with regard to aptitude and competence? / ?ﬂﬁ Y PIF-TT HYF TRGaT 3R &Har & Jao &
w32

1. Aptitude is an inborn potential to do something. / P& FA o ToTT IRl Ueh STHITd SHTaAT @Tf[ &Hd) H

2. An aptitude is a developed knowledge. / g U fadbid I %’I

3. A competence is a part of an aptitude. / &HdlI Th WWW%W %l

4. A competence is an inborn potential to do something. / P& FHAD foIQ &raaT U SrESiTd et (W?f&lqa'l) %I

Correct Answer :-

« Aptitude is an inborn potential to do something. / $ PR & [T AT U ST YHTGT (HTI&HT) B |



14) Who introduced the term 1.Q. (Intelligence Quotient)? Aca:c &rréaq @@ SUARIN Ug & ufaurfea fean
1. Terman / TH

2. Galton / Tee

3. Binet / oM@

4. Guilford / TS

Correct Answer :-
o Terman /TH

15) The psychologist who discovered that children’s perception of reality is not learned from adults but is constructed is: / 98

o= et @ % s & aRafawar B YR JARD! | A1 Wit et 7, a1 gt frmtor faar srar g 9 8
1. Jean Piaget / ST fUTS!
2. BF Skinner / §f T &R
3. Amnold Gesell / 3TcS T¥d
4. Howard Gardner / B1aT8 &R

Correct Answer :-

« Jean Piaget/ S oSt

16) During which stage do children start reasoning? / v d SraxT & =1 T BT T PIAE?
1. Adolescence / for=IRTa=IT

2. Late Childhood / 3TR STedTa¥IT

3. Infancy / QATETTRIT

4. Early Childhood / 9 STeaTaeT

Correct Answer :-

o Late Childhood / 3TR STcATaRT

17) Teachers should take a/an rather than group perspectives when considering diversity in the

classroom. / B&T § fafaedr R faaR o 9wg, Rgre! ot g & eI & T9a T &
@I B T a1 A1feud

1. Group factor / JHg HRIH
2. Opinion / fa
3. Student / B

4. Individual / SafadaTd

Correct Answer :-

¢ Individual /W’Iﬁ

18) Which of the following is not an aspect of metacognition? / fFafaf@d § & a1 JFHad (Herdrizm)
BT TP Ugq el 82

1. Altering consciousness/ddT | @M
2. Revising cognitive strategics/STHIHD Ul S =N R
3. Planning cognitive strategies / GIATHD U @t Gt S



4. Monitoring cognitive strategies / GITATHD Ui B TR BT

Correct Answer :-

« Altering consciousness/AdT H @M

19) Which of the following is not true about the teaching process? / Frafafea o Rreor ufear & e d &
T T8 32

1. Teaching is the process with a purpose to bring about learning. /ﬁwwmésmu &ﬁmﬁm?{l
2. Teaching does not sway the whole process of learning. /@T&mﬁ mﬁ@mﬁ@?ﬁél

3. Teaching does not need a formal set-up. /ﬁTW%W WW@ Wﬁ%l

4. Teaching should be centred around student. / R1&0T &= & Y- diad g1 dTeul

Correct Answer :-

« Teaching does not need a formal set-up. /QT&I'UT%%'Q G‘ﬁqﬂmﬁﬁﬂ'ﬁﬁ Wﬁ%l

20) Which of the following does not apply to the brainstorming process? / fAufefaa # 9 = fourR fowusf
uferan & fore any 7Y gtar 32

1. Generation of unusual ideas. / AT AR BT For |
2. Criticism of ideas. /ﬁilT\Pf P AT
3. Associating different ideas to come up with a new one. / F¢ FUY ISP %I'Q faftre foel &1 STl

4. Quantity is more important than quality. / J[0Td<T Gl [S(NE| R PR IRED IIEH"{UT %I

Correct Answer :-

« Criticism of ideas. / fa=RY &1 A=A

21) According to Martin and Halverson, when young children observed gender inconsistent behavior, they tend to have:

/ AIET SR AT F IJAR, T9 BIe F=l A FiT & ST SAaeR b1 gad b, @t 399 g vafa &
1. A distortion of memory/ ¥Jfd &1 faefd

2. An accurate memory / U eI Wfdl

3. A rejection of the behavior/ TAER B1 AP

4. An imitation of the behavior/ TdgRR CAK G

Correct Answer :-

« A distortion of memory/ gﬂﬁ Gl ﬁ?ﬁl

22) What problem do children with anorexia nervosa typically have? /E';lﬁ'm I4ater T fa 7= @) AR U
HIT TR gl 82

1. Problems with impulse control / ST R0 & T qHTY
2. Problems with body image RRR UfaHT o 1Y THW

3. Reduced physical exercise / HH YRING ™

4. Excessive eating / HATAP HISH BT

Correct Answer :-

o Problems with body image /R IR e & 91y geang



23) What is more likely to help a child remember a story by Tagore? / SR GRT TP HgT-1 1 I1G 79 H I B Heg
B B HYS FHTTT T 82

1. The moral of the story / FgM o1 Afdws
2. The size of the story / FHEH! BT SMHR
3. The font of the letters / 31&RY HT HI<

4. The colour of the title /R BT T

Correct Answer :-

o The moral of the story / $g =t @1 Afde

24) Eliminating caffeine and sugar from diet before bedtime ensures - ek tl?ﬁ 3R I FPH 3R A+ B guTE
1 39 ghAfa a3

1. Reduction in stress / TG & &HT

2. Good functions of muscles / Wﬁlﬁlﬁf 37_ a@fﬂ WT&

3. Good sleep / 3t Hig

4. Good absorption of nutrients / Ui dcdl ol 33T SR

Correct Answer :-

» Good sleep / 3B g

25) How information is typically stored in semantic memory? / 3fTH R R 3redra '\‘Tjﬁf (ﬁl’ﬁﬁﬁ ﬁnﬁ) |
TSR $ ITE gl 22

1. Networks/ﬁzaﬁ
2. Skills/ BT
3. Tasks @Rﬁ

4. Groups /ﬂ'ﬂ@
Correct Answer :-

. Networks/ﬁzaa’ff
26) CANCELLED

Which chart shows that the highest return of investment in education is maximum during the early years? | DT IR EQ'I'THT%

% 3ot auf & R Rren & o &1 e siffwan 32
1. Heckman's / 88

2. Wisconsin’s/ A=

3. Hurlock’s / 8l

4. Puberty’s / Tia=Tal

Correct Answer :-

e Heckman’s / %ao‘ﬁ?

27) Mild retardation is a category of mental retardation having an IQ of . /99 Tigdl grHRI® Hedl

F1 Joft 2 R BT TS BT 2l
1.70 to 89 / 70 T 89 AH

2.20t029 /20 ¥ 29 A%



3.50t0 69 /50 ¥ 69 AP
4.30t0 49 /30 ¥ 49 &

Correct Answer :-

. 50t0 69 /50 69 AP

28) To improve the problem solving skills in children, which of the following things can be done?/ =l

Pt TS B AT & HIa W JYR H31 F forg, Fafafaa o S« frar o gear 82

1. All of the above / JURId Gt

2. Invite children to talk or write about ideas only / Had [dAR] & &I H d1d B T fera & o S & AT H
3. Ask children to draw pictures for stories only / = ¥ ad Heldl P forg s 51 ) Fg |

4. Use blocks and models only / $ad sl 3R HISH BT ST B |

Correct Answer :-

« All of the above / SURTeRT Gt

29) Inclusive education means: / FHTAT RR1am &1 314 2:

1. Education for all children in school. / ¥ d ot s & forg fRremi gaTaRft fRrem o1 3 %’:
2. Education of intelligent children. / ng?'ﬁlﬂ T B e

3. Education of the poor children / TRId =i &1 fRiem

4. Education of the minorities / 3cTEBIHT o1 fRI&H

Correct Answer :-

» Education for all children in school. / ¥ d o 9t g & foru fRrem Twra=h frem &1 3 %:

30) GAD stands for: / Sftus! @1 314 8:

1. Genetic Anxiety Disease / &naaﬁm a4 (aﬁﬁ? QGIE_CPT%@\_S‘T)
2. Genetic Anxiety Disorder / 3TafRIe fia fadwR (SRfew Toset fewiter)

3. Generalized Anxiety Disorder / I foidl fA@R (TRAZSS Toge! fEwilER)
4, Generalized Anxiety Disease /W IEGIEW] (CRENIESS] U GI%FE %?ﬁ\_rl)

Correct Answer :-

« Generalized Anxiety Disorder/mmﬁw (SFRATSSS Ualge %Rﬁ_é?)

Topic:- General Sanskrit(L1GS)
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Correct Answer :-

Correct Answer :-
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Correct Answer :-
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TS’ ST U e ?
d: |
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Correct Answer :-



=] W' S AR Y & ?
1. g |
g |
, ST |

Correct Answer :-

ol

12) . 5 c .
TR H!—dgddlcqnflj iw. 3‘% e aqﬁ:’laq‘rﬁ &l -
. A= |

2 A T |

3. :|
, g |

Correct Answer :-

. AT |
, T |
, dloh: |
. FIE: |

Correct Answer :-

.Ehsiwzl



= [

R I |
% i |
| FRMET i |
, A i |
Correct Answer :
M Ui |

| T



AT |

4.

Correct Answer :-

 FEEA A |

Correct Answer :-
hel: |
o}

20)

y; t?'qtf‘\ f‘\! LY ‘\),@_'q, f‘\l"\:qal_?

AT |

1



QEITSAT 9T |

2.
i |
3.
et |
4,
Correct Answer :-
[
. Tgaman |

21) - © [ [ L
"SR] AJAEUNSEH, ZId TARA el Ih: ?
1. f :

A |



N iTa: Hh: |
TG ¥eh: |

, T ¥ |

Correct Answer :-

25) o
s A -
| 7 AT |

[
. dT HIAHT |
Correct Answer :-
.
4T HTlSHT |



| e |
, T |

Correct Answer :-

TR |

27) CANCELLED
™ ™, ™
TUCHETEE: FHidd: ?
3

1.
, 6
, 9

12
4,

Correct Answer :-

28) CANCELLED

TAITAHTHI e [G29uE ?

29) CANCELLED

TGS 2



30) CANCELLED
AT 1 6 JaTAHh:, STR1S! 28l aia8:” Id aHd HEeaTd 399G £29d ?

A e S Y

el I SN

Correct Answer :-

el Y A SN Y

Topic:- General Hindi(L2GH)

1) &} 3R $UH & T R fFA 9F ard 59 1ivr AR F) b & T [ew SR Tedr & Q1Y IR ST AT | 9F 9@ TT
T gRTT, 99 9% YRaaY A fA-ufa ged 9F arat 3T $9 | g1 4 @Y Iuran & unt § #ig off T@1ae 7 81 e a1
e ypR 17, S YR o & wTa B oA 7 A S| o SR $uH, W 1 Wi &), SR 3R e & T & Hay &,
STAHT B [ HA 3R F I3 FT AU g1 78 heft gzm & of, fansht ok o 3t wareiqan & 93 o paed s1areE =
1 ITYPT 7 dTg, I a6 BT YH 31U AH 3R GO T 7 918, 9 YR &1 4H 98 911 &t i ol & a1 arell & et
WM & forg H15 ff R 8)1 afe feht enf & aree ard w8 TaRed e srsTa Bt SA%T 39 YR T BT ¢ 31 warehar
¥ fav Tus wra| v B wrdi=ar & R S S foran i veT Ut 39T 9 A f:3ids, sreid =1 ot o o, wefiman &
& ¥, faarwa, gear, dafaat oiv uutaral o wir far S smaxgs aus T Ue R | 99 T gua et & &
H, TP BeH UIS geTdx @M ATI AU I UTY &1 Bd TSl g7 HRHT US I8T §1 3% $1 warefiar & Gur gt 3 W sega
TR SR PR BT G S AR G U A U o, I ifrep ifcRrmmedt a1 o TR SHR 39 ST T e 9 g 6 g
Y, gAR 814 € A TeTS 3@ 3R 375-/ a1l @1 Wfdal gur o I@re A @it § iR 31 ¥ ueigd! unTeryH, uuw 3R
ST BT 7T TG H2 I8 T

ST TR B UgH T IR 7T Uy HT IWR Ta153:

TRH- TR T B A SRTaTRial b fhas Tad a1 38T /2
1. HIdA THIA BT Ao

2. Fad o ST e

3. Had YTife HEaT BT WIS T

4. SRIad aaft

Correct Answer :-

. SWRIgd g+



2) & 3R $HH & 9 W Y oM ard 39 1ivur SR Fi e $ e 98y R Tedr W1y S g1 A1t oid a TT g1 ghm, a9
TP YRaay # fra-ufd 9gd o1 a1d 318 &9 7 81 of $t Iurgar & unf & #1S oft $orae 9 811 Ryt 74 R yor TR, S uerR ef
BT WG DI 372 7 A S | o 3R A, 7 BT WieT g, SR 3R ST F 1T BT TaY g, STHT DY Y&k I 3R S S b1 qied
21 9% forlt o= & oft, it g aafot T & S99 a1 gaa &1 |18 9 991 (TUHT 0 918, I av8 BT 4 39 A 3R gaR BT
T 9%, 39 UPR &1 ¥¥ a8 A1 S f=T «mif & A9 a1l & ol o & R 1S oft =i 9 811 3 el enf & 9 ard ) Savewt
20T 3reTd B, It STPT 39 YPR BT B SN B WLl & [Avg Tusn sirg| 31 &1 Wrefi=ar & fore it S f3ar o ve1 o1, 39«1 98 fea
f:wide, 3rcdd o1 o1, o 1, Trdiaar & 8 #, f@ewd, gear, Aafaal ok it o i faar 9T sravas JHeE T U6 TR 9§
39 a7 g9 Wifiaar & &9 §, ve $eq Ui gere? 31 Y411 31U I UTY 61 d 31T g8 HINHET US T6T 21 391 &) e & §urv € 3
AT Segd TR 3R pRrard 1 3 F T gok T F U7, 37 siftre il s Rar sk gk s@ s FT wa ag gan & v
's“\qm,anﬁsgg’rﬁmmaﬁ?gﬂ%—ﬁﬁﬁﬂﬁ?ﬁﬁgﬂﬁﬂgw@ﬁwﬁ%aﬁv%ﬂﬁmw,msﬁvmm
I T B I

SIS TR F1 UgHR 1 TR T UY HT IW TA153:

- U TR & SR 3% 3t wardhi=ar & g & anes umr
1. Had YH DI o

2. $Id Hlgs! URTAUA

3. Had YTH® Hgdl

4, I qaft

Correct Answer :-

. SWRIgd g+

3) o 3R $UH & T W fFA 911 T 59 9o IR F1 AP F T e SR Tear $ 1Y AN §H1 11| 99 9% TAT e g, a9
TP YRaay # fr-ufd 9gd o4 a1d 3R1S &4 9 8| ef 3t Iurar & anf § 1S oft $o1ae 9 811 Ryt 74 /g o 91, S ueR f
P UG B 30 1 F o | o 3R $HM, T B1 HiaT g, S3R SR St & g o1 TaY g, THT B Y B IR FA ISH BT WY
B ag el gz & off, freft ger cafd &5t Tardferar & 199 a1 paea &1 |1 = 991 3TUST T 918, I a8 BT 4 317 9 3R gIR 31
T T18, 39 UPR P ¥ a8 AM | &Y Fi=T ol & A1 arel & T o & forg ®18 ot = 7 811 3t st onf F 9 9rd Pl SreRewlt
21T 3reTd B, df STPT 39 UPR BT B4 S &1 Wl & [ag T S| 31 &1 Wrefi=ar & fore it S f3ar i ve1 o1, 39«1 98 fea
f:xidg, ercid R T, R 1A, ward=ar & & ¥, e, gear, Hafaay eiv emiemat @) T faar siFT snaxas que 17| U UoR I
39 o7 591 WA & &9 #, U B WIS gere 3T 4TI U S UTY &1 Bd 3T 87 WRHT U ¥81 81 3 9 Wardhiaar & I €1 3
AT Segd TR 3R AHRArd 1 A F THA gok & F U2 ¥, I siftre =fda=mmeht s fear ok gaR 39 &4 &1 wa g gen & fv
svm,swﬁsggﬁmsqﬁsﬁ?ﬁ%—ﬁ?ﬁﬁﬂﬂ#ﬁﬁgﬂﬁmmﬁwﬂﬁaﬁ?%ﬂﬁmﬁﬁw,maﬁva'cqmib‘r
I AT B I

SR TR P UgHR -7 I T UY BT IR Iargd:
URH- W T | Helgd ! YRty o T ared @2
1. YIS el

2. FTHIAPIS T

3. YT He=ar

4. Qa1 HERdl

Correct Answer :-

4) 9 3R M F T W fFY WM a@ 39 v TR Y Ae F 1T e 3R TEaT &A1Y I 141 IR | S aF THT IE) g1, a9
TP YRaay # fru-ufd 9gd o1 ard 3R1S & 7 81 eif 3t Iurar & unf § 1S oft $orae 9 811 et 74 /9 o 91, S ueR of
Pt UTGHT B 31U 11 | Sa | ef SR SHM, T BT WIS 8, 4R 3R e & i &7 TaY 8, ST B I FA 3R FA IoM FT |18
211 98 forlt a=m & oft, it oy safey 3t e & S99 a1 paa &1 J1e= 9 991 TUHT 9 918, I9 a8 $T 4 39 A 3R gaR BT
T 9], 39 UPR &1 ¥+ a8 A1 3 Fa=T 4wl & A1 a1l & ol o & R 1S ot =i T 811 3 feht onf & a9 are ) Savewt
21T 3reTd €, It ST 3H YPR BT S S &1 WLl & [a%g T S| 31 &1 Wrefi=ar & fore St I f3ar i w81 o1, 39«1 98 fea
f:xidg, srcid 1 T, R 11, wardi=ar & & ¥, e, gear, Hafaay eiv emiemat @) T faar wiMT snaxas qus 11 U6 UeR I
39 o7 591 WA & &9 #, U P NS gera 3T 4Tl 3u- S T &1 d 3o 87 WRHT U ¥81 81 3 o Wardiaar & I €1 3
AT Segd TR 3R pRrard i A F T gk T F U1 3, 37 siftre it s fear ok gaR s@ FTH FT1wa gg gan & b
svm,mgggﬁmmsﬁ?gﬂﬂ?—ﬁ?ﬁﬁﬂﬁﬂ%ﬁgﬂﬁﬁgw@ﬁwﬂ%sﬁ?%ﬂﬁmw,meﬁva'cum?ﬂ
I R B I

SR TR P UgHR A7 I T UY BT IR qargd:
prefiviabivibciciE kS
1. Holgd



2. YR HAT
3. 3fgd
4. B

Correct Answer :-

. 3y

5) ¥ 3R $HM & 99 W {53 oM ara 39 v SR $i e & T 9ed ok Tedr & /1Y I g 91| Sid ao T g1 gh, a9
TP URday # fA-ufa 9gd 91 a1 318 $4 7 8171 ¥ #1 U1 & Anf § #1 f Toprae 7 811 e 99 o R T, S uer o
P UTGHT BT 30 T4 T W | o 3R $HF, T BT HiaT g, SYR SR AT & S 31 WY 8, THT B Y B 3R FA ISH BT /I8
g1 95 forclt o= & oft, el ok e 3t Trdfiaar & S99 a1 paes &1 91U 9 991 STUST 94 918, 39 av8 T Y 319 A SR gk &7
T 918, 39 UPR &1 4 ag A1 & fu=T 4wl & A=A aral & el 91 & e 1S oft == 9 811 afe el enf & 99 ard ) Savewt
21T ST g, It SPT 59 UPR &1 B ¥ Pt w@reh=ar & o Twen S| 321 &) Tareh=ar & forg sit SeT f3ar i 387 uT, 391 98 faq
fr:3ieg, ord T T, R fq, wardi=ar & 8 9, Raemwa, gea, dafaay eiv ewfEmat @) = faar ST smaxae qwen 141 U PR I
39 o1 g7 WA & & #, U e IS gere 3T 4T U S T &1 Bd 3T g6 WRHT U ¥81 §1 32 $t wardiar & I &1 A
HIAMT g TR 3R AP FI I F A gk EU H U fFwa, 37 siftre it a1 fRan iR gk s s ST wa ag g & fs
swmmr,maggﬁmsﬂaﬁaﬁvsﬁ-ﬁ@ﬁaﬁaﬁﬁsﬁmw@ﬁwﬁ%aﬁ?%ﬁﬁmw,maﬁ?mm
T AT B I

IUe T P! UgHT H1E IR T UY BT IR T84
- o SR $u Y Wil & o et @2

1. TSI B B

2. 59 3R yuT H

3. 3fd g Y

4. TT5Y 3IR TGa1 Bt

Correct Answer :-

. 89 3R TgaT BI

6) ¥ 3R $UH & W W fFA 1 a1 39 Vo TR F AP F T 189 3R Tear $ 1Y AN 41 I | 519 9 THT e g, a9
TP YRaay # fr-ufd 9gd o1 ardt 3RS & 7 81 7f 3t Iurar & 7t & 1S oft $1ae 9 811 et 74 /9 o TR, S ueR of
P UG DY 30 71 T W | 4 3R $HF, T B1 Hial g, SYR iR el & g o1 WY g, THT B Yt B 3R FA ISH BT /I8
g1 95 forslt o= & oft, el gk e 3t Tardfiaar & S99 a1 gaem &1 91Ys 9 991 STUST 94 918, I aRE BT YH 319 A SR gIR BT
T4 917, 39 UPR @1y ag A | & fu=T 4wl & 99 aral & el 9 & e 1S ot =i 9 811 afe el enf & a9 ard el Savewdt
21T 3reTd €, df ITPT 39 YBR BT B S &) Wl & 4 T S| 31 &) Wrefi=ar & fore it S f3ar i ve1 U1, 39«1 a8 fea
fr:xidg, orid T T, R A, ward=ar & 8 ¥, Raemwea, geo, Hafaay eiv ewiemat @) T faar siFT snaxae que 141 U UPR §
39 o7 g9 WA & & #, U B IS gere 3T 4T U S T &1 Bd 3T 86 WRHT U ¥81 81 3 $ Wardiaar & I €1 3
AT 3fegd TR SR ARt B S F THA gI U § Uy fpan, 3% siftre wifwm=meht o foar siR guR s s ST A ag g ¢ &
svm,snﬁslg%‘?ﬁamsﬂaﬁaﬁvﬁ-ﬁ@ﬁaﬂw@ﬁsﬂww@ﬁwﬁ%aﬁv%mﬁmw,maﬁvmm
T VAT B I

IR TR BT UG 19 U 7Y Uy BT IR qargd:
U=- 327 H YU, T BT 350 P RMNAT HRI R E ?
1. IWYad gt

2. YT Herdmarat
3. Wr-aqy e

4. AT hexdrara
Correct Answer :-

- YTfHe PBgefrard!

7) ¥ 3R UM & W W fFA 9 ard 59 9o AR S AP P T qre 3R Tear S H1Y IEN §H1 91| 59 9 TAT e g, |
TP YRaay # fra-ufd 9gd 91 a1d 3R1e &9 7 81| 9f 3t Iurgr & unf & #13 oft $orae 9 81 Ryt w4 g R TR, 3W uerR et
P UTGHT BT 30 T4 T W | ¥ 3R SHF, T BT WGl g, $3R SR ST & S BT Y g, THT B Y B 3R FA ISH BT /I8
g1 95 fordlt o= & oft, it o et 3t i & S99 a1 paa &1 |18 9 991 TUST 94 918, 39 av8 BT 4 319 A SR iR &7
T 918, 39 UPR &1 4¥ ag A1 < fU=T il & 99 aral &b el o1 & e #1S oft =i 9 811 afe et enf & 9= ard ) Savewt
21T 38T g, It SPT 59 UPR &1 Bd ¢ Pt w@ih=ar & favs Twen oI | 321 &1 Tareh=ar & fore sit ST far i 387 UT, 391 98 foq



f:xidg, srcid R T, R 121, wardi=ar & & ¥, e, gear, dafaay eiv ewiemat @) T faar wiMT snaxas qus 11 U6 UoR I
I 27 g Wi & &3 §, ve $eq 0D gere? 341 Y11 3 I UTY 1 d TS g8 U1 US T8T 21 39 &) warei=ar & Surv € 3
AT Segd TR} 3R ApRrard 1 3 F T gok T § U7 ¥, 37 siftre zfdasmeht 1 fRar sk gk s@ dH FT wa dg gan & v
svm,msggﬁmmsﬁ?ﬁ%—ﬁ@ﬁaﬁmmwmﬁﬁﬁwﬂ%aﬁ?hﬁmmﬁ,maﬁva'cum?ﬁr
T RIT B I

SR TR P UgHR -7 I T UY BT IR qaIgd:

- 3% F1 WA & &7 § fFud s58Y § 79 UF Ted 0D 99 T?
1. o gxaay

2. HTfHep BXI&Y

3. M1 geaa

4. AN geday

Correct Answer :-

. YT gway

8) o 3R $HM & W W frd WM a1 39 v TR Y AP F fore ATeT SR TEdT &A1Y I BT IIRT | S aF THT FAS) g, a9
TP URday # fA-ufa 9gd M a1 318 $4 7 811 o 31 IUrgr & Anf # #1 WY Toprae 7 811 e 99 o yor R, S uerR o
P UTGHT BT 30 71 T W | o 3R $HF, T 31 Hial g, SYR SR STl & S o1 Y g, THT B Yt B AR FHA ISH BT /I8
g1 95 forxlt o= & oft, el g e 3t Trdfiaan & S99 a1 paem &1 91U 9 991 STUST 94 918, I aRE BT YH 319 A SR gIR BT
T4 917, 39 UPR @1 ¥ ag A | < fu=T 4wl & 999 aral & el 9 & e 1S oft =i 9 811 afe el enf & 99 ard w5l Sravewt
21T 3reTd B, df ITPT 39 YBR BT B S ) WLl & 4o T S| 31 &) Wrefi=ar & fore St S fSar i ve1 U1, 39«1 a8 fea
fr:xidg, orid T T, R fq, ward=ar & & ¥, Raemwea, gea, Hafaay eiv ewifemat @) T faar SiFT snaxae que 11 U9 UeR I
39 o1 g9 WA & & #, U B IS gere 3T AT U S UTY &1 Bd 3o g6 WRHT U ¥81 81 3 $ Wardhiaar & I &1 A
HIAHT g TRY 3R AHRTARS FI I F FHA gk &4 U v, 7 siftres it a1 Ram iR gaR se s ST wa dg g & fs
svm,snﬁslg?%msﬂaﬁaﬁvﬁ-ﬁ@ﬁaﬁw@ﬁsﬂwwﬁﬁﬁwﬁ?aﬁv%mﬁmw,maﬁvewmm
T AT B I

IUe T P! TGP H1Y U T UY BT IR T84
- ' SWIS A HT Ay §2

1. A T8 FR AT

PASEN)

3. Sfed
4, SoRdr

Correct Answer :-

. G T B G

9) o 3R $HM F T W fFY WM 1@ 39 v TR Y AP F fore A1ET MR TEdT S AU I g141 IRT | i aF THT S} g1, a9
TP YRaay # fru-ufd 9gd o4 a1dt 3RS &4 9 81 eif 3t Iuraar & anf & 1S oft $o1ae 9 811 et 74 /9 o 91, S ueR of
P UG BT 30 71 F W | o 3R $H, T B1 HiaT g, SYR SR et & e o1 TaY g, THT B Yt B AR FA ISH BT WY
B ag el gz & off, fpeft e cafd &5t Tardherar & 199 a1 paea &1 |1 7 991 3TUST T 918, I a8 BT 4 317 9 3R gIR 31
T 917, 39 UPR &1 4 a8 A | & =T 4wl & 9= a1al & eddl 9 & e 1S ot =i 9 811 afe el enf & 99 ard ) Savewdt
21T 3reTd B, df I7TPT 3H UPR BT B S &1 Wl & 4G T S| 31 &) Wrefi=ar & fore it S f3ar i ve1 o1, 39«1 98 fea
f:idg, orcid R T, R 11, ward=ar & & ¥, e, gea, Hafaay eiv ewiemat @) T faar siMT snaxas que 17| U UoR I
39 o1 g9 WA & &9 #, U P WIS gere 3T 4TI U S T &1 Bd 3T 87 WRHT U ¥81 81 3 9 Wardhiaar & I € 3
AT 3fegd AN SR XHRTard B S F TR g U 7 Uy fpan, 3% sifte wifwm=meht s fowr sk guR su s ST A ag gon ¢ &
svm,mgggﬁmsqﬁaﬁ?ﬁ%—ﬁ?ﬁﬁﬂﬂ#ﬁﬁgﬂﬁmmﬁmﬂﬁaﬁ?%ﬁﬁmw,msﬁ?mm
I RATUT B I

IuYe TR P UgHT H1Y U T UY BT IR T84
T S T & AT 8-

1. T A R ARET

2. g ST

3, TeRawl B

4. FPHIIC ST

Correct Answer :-



10) ¥ 3R A P T R A 9H 919 39 W0 AR H1 Ap1 F T J1ed 3R Tgar & 1y SANT g1 AL | o9 a9 T 1T 8,
9 9% URAqy # A-ufa gd 91 91 3918 9 7 8111 o &1 U1 & 9nf # #18 of Tprae 7 811 et 11 B ueR AR, 33 v
o B WTaT B 3 7 A S | o SR SHE, 77 BT HIGT Y, SR 3R AT $ i BT G g, ATHT B Lok PR 3R FA oM BT
a1y 1 98 frelt gz A oft, et g e Y el & SR a1 Faa BT WY T 971 SYHT A7 918, S avE 1 9 oy uH ok
TR BT 01 A1), 39 UoR &1 ¢f 98 a1 &1 it oot & 9= arel & et o & e 318 ot w9 81 g feadt ond & wrem ara sl
SR 21 3rSTd 8, df ST 3H UPR $T BT S I W1 F o T S | =1 Y Tarefi=ar $ fore sit I= foran =i e o1,
Fa1 ag a1 F:vidg, srcda =1 1, o e, warefiqar & & 8, fRyarwa, gean, diafaal siv vufar &) v o s srawas awsn
1| T TR 4 39 fo1 g Wrefi=dr & &9 #, T Bgd 0D gerdy I@T UTI 30 S U1 &1 el 3111 §H HITHT IS 78T 81 3 3t
TR & T € A HiA Sfegd IRY SR AHrETd P A S WA gEY T4 H 9 b, I ifire wfdammrel a faan ofk s 5w
P BT Bd 9g goN @ % 59 90y, TR 81l 1 | 9g1$ 3101 3R 37%-F AN &1 frral gar Wi Swre § wfl € ofi 3=1 & uorgd
T, T4 3R SeUTd T 6T RITAG a3 81 B

SR TR P UgHR -7 I T UY BT IR JaIgd:
u- frude d w9 @ | g2
1.3

2. 70
3. o
4, foort

Correct Answer :-

11) y¥ R EAF P T R f$A 9F 919 39 10T AR F1 AP F T T1ed 3R Toar 1Y SN ST A1 | o9 a9 I e B,
9 9P URAqY A -ufd g¢d 91 916 012 9 7 8111 o &1 U & 9nf # S8 o TP1ae 7 81 e 11 N TeR AR, 33 v
o Bt UTTT BT 39 71 A Sma | et SR ST, 9 BT AT 8, SR AR SMTHT b S BT AGY Y, ITHT Bl Yo B 3R S IS BT
1Y g1 1 a5 flt g o oft, faneht gt et &t Trdiran & S99 a1 paam &1 W19 9 991 SITUHT 94 978, 99 avE BT YW 319 A SR
TR BT A 917, 39 YHR &1 4 ag a1 gt =T ot & am arel & et o & g o1 o = = 8 afe felht enf & arem ara
STERGT 1T 33T 8, df ST 3H UPR PT BT & B TWIEHaT P fIos T S | 0 &Y Frefirar P fore sit I=n forar i 81 o1,
I 98 3 e, srcda 1 oI, o &, wrdiean & & ©, faarea, geen, Mafaal o awiamal &1 R foan S smawae Jw9sn
1| T UPR A 39 e g4 Wrei=a1 & &9 #, T weH WIS gerdy @M U1 3U S UTY &1 dl 31l 88 HRHET U ¥8T 81 31 $t
TR & FAH € A HIA Sfeged IRY SR AHrard Y A b WA g T4 A 9 b, I ifire wfdkemmreh an fan ofk s 5w
BTH BT B g g ¢ [ 39 0T, g9 211 ) @ 9¢1 370 3R 37%-Q |l 1 wifkral grrY sis SareA # aift § ok 3w # Aorgat
URTAY, WU 3R ST BT Iy TITT B W 81

Iude TR P UgHT H1Y U T UY BT IR T84
TH- ‘YUY § SUHI § -

1.39

2.0

3. 39

4. 3[4

Correct Answer :-

12) of 3X S F T R A oM 9ra 59 v SR B e & 1T A1ew iR T & 1Y SENT ST A1fe T | S| ae QT 8l gh,
a9 9P URaqy # f-ufa gga o1 a1a 918 0 7 811 o &) Suran & 9nf # #18 of Ferae 7 811 et u1 R ueR 9, S ver
e BT HTET BT 3 99 A S | et 3R U, 7 BT WieT 8, SYR 3R 31T F S BT WY T, T P Y& B 3R ISM BT
1Y g1 a8 fordt o= o oft, el g ot &t Tarehean & S99 a1 paamt &1 |18 9 991 SITUDT 94 918, 39 a8 3T 4W 319 A 3R
G BT 01 91R, 89 UK &1 oif 95 a1 31 et oot & 9= arell & eavr 9F & g 31 oft @i 9 81 g fsedt ond & o ara ol
SR e 3rSTa 8, dl ST 39 UBR HT BT = B WILh—d1 F faes Tw i | =1 Y Tarefi=ar & fore <t I=n faran i er o1,
I9P1 a8 o A:3idg, srcda R T, o &, warefiqar & & ¥, fRyarw, geo, Wafaal siv uufarf &) e far S srawas qwsn
T T UPR 4 39 f1 g4 Wrei=a1 & &9 #, T oeH D gerd? I@T UTI 30 S UTY &1 el 31T g8 HRTHT US ¥eT &1 31 $t
TR & HAH € A HIA Sfege IRY SR AHrard Y A b WA g T4 A 9 b, I ifires wfekammrel a i ofk R g
HTH P el ¢ g3 ¢ b 30 THY, TAR 1T & A TerE 371 3R 37h-4 qI 3t kTl g9RY o S@rea & @it & ok 321 # Aoreat
URTEUH, WU 3R ST BT Isd T B3 &t &l

ITT TR B UgHT 1Y IR T gY BT IR 94133



U - ‘Ui’ I 82

1. gfe
2. ST

3. 5 4 P el
PR

Correct Answer :-

13) y¥ 3R EAF F T R $A 9F 9 39 10T AR S AP F T J1ed 3R Toar 1Y SN T A1 | 59 a9 T e BRI,
9 9% URAqY | -ufd g¢d 91 91d 3012 9 9 8111 o 31 U1 & 9nf # S o Tprae 7 811 e 11 N 1R AR, 33 v
o B} UTET BT S 91 F S | o 3R UM, 7 BT AT 8, SYR AR T F T BT WY B, T BT Y[ B 3R G ISM BT
1Y 1 98 fordt gz A oft, et g e 9t wrefien & SR a1 Faa BT WY T T AYHT A7 18, S ave BT 9 Sy uH SR
T BT 0 AR, 39 UPR &1 o°f 98 a1 3 it oot & we aral & v o & e 31 ot w9 81 g fedt o & wrem ara sl
STERGT 21T 33T B, <l ST 3H UPR PT ST o I TWILHaT P fIos T S | 0 B Trefi=rar P fore sit I=n forar =i 21 o1,
I g8 3 e, srcdd R Ui, oy e, wrdiean & & o, faarea, Yoo, Mafaal ofi ewiamal o1 Rt foar S smawae J9sn
1| U UPR A 39 e g4 Wrei=ar & &9 #, T weH NS gerd? I@T U1 3 S UTY &1 d 3T 88 HRHET US ¥eT 81 31 $t
et & HUTH g A WA srsga It SR AT B S F WA g 0 A 91 o, 3% it ifRr=imedt a4 faam oiv suR 3w
B9 BT Bd g g ¢ [ 39 0T, g1 2141 ) @ 9¢1E 370 3R 37%-Q |l bt wifkral garY TS SareA # aift § ok 3w # Aorgat
URTAYA, WU 3R ST BT Iy T B W 81

IR TR P UgHR 17 I T UY BT IR qargd:
uH- et § S1H-91 U § 2
1. ERftyTg

2. TTY
3. PHYRY

4, aga %
Correct Answer :-

. UG

14) 4¥ 3R FAF F T R $A 91 9 39 10T AR F1 AP F [T J1ed 3R Tear & 1Y SN §H1 A1 | o9 a9 TIT 1T §R,
9 9% URAqY | A-ufd gd 91 914 301 9 7 81111 o &1 U1 & 9rf # S8 o Tprae 7 811 e 11 S 1 1R AR, 33 v
o B} UTTT B 3= 91 F T | o 3R UM, 79 BT AT 8, SYR AR T F i BT WY B, AT B Y B SR A ISM BT
1Y B 98 forat =i # oft, frelt gk aafey &t Treeen & S99 a1 e &1 W1e 9 991 S(TUPT 94 918, 39 a8 BT 9¥ 319 A 3R
TR BT 9 AR, 39 UPR &1 °f 98 a1 & it oot & 9= aral & et o & e 31 ot w9 g1 g feadt ond & wrem ara sl
STERG 21T 3rSTd 8, df ST 3H UPR PT BT S I TWILHaT P fIos T S | 1 &Y Trefi=ar $ fore sit I= foan =i @1 o1,
I g8 T3 e, srcda R Ui, oy &, wrdiean & & &, faarea, Yoo, Mafaal ofiR ewmiamal o R far S smazae q9sn
1| U YR | 39 e g1 Wrei=ar & &7 #, te weH NS gerd? @M U1 3/ S UTY &1 e 3o g8 HRTHET Us ¥eT 81 3= $t
el & T g A WA sfsga It SR XhRTaTd B S F WA gI 0 A 91 o, 37 aiftres wifdRe=mmedt aem faam siv suR ¥
BTH 1 98 g3 ¢ fb 39 99Y, TAR g1l € A 918 3770t 3R 37-3 A ot wifckTal gart o1 Sars & oft § ofik 3=1 & wergaht
URTAYA, WU 3R T BT Y TITd B W 8 1

SR TR P UgHR -7 IO T UY BT IR qargd:
- "YU’ ek BT THAT e 2-

1. 3BR

2. SWRIad gt

3. 31

4. SMTHYT

Correct Answer :-

15) y¥ 3R EAF & T R f$A 91 916 39 10 AR S AP & [T I1ed 3R Toar & 1Y SN 81 A1 | &9 ao QAT el B,
9 d% YRaqy # FAa-ufa e o1F ard 1S &0 9 8111 4 B IurEr & 9nf 7 18 it Serae 9 811 et 74 o ueR TR, 33t uerR
i BT UTTT BT 3 99 F S| e 3R U, 7 BT et B, SYR MR 3T & S BT WY B, T BT Y[ B 3R S ISM BT



1Y g1 1 9% forlt o= o oft, faneht ek et &t Tareheran & S99 a1 paam &1 |18 9 991 SITUDT 94 918, 39 a8 BT 4 319 A 3R
S BT 01 AR, 89 WK &1 oif 95 a1 31 et ot & o arall & et 9 & R 391 oft w9 8 gl fedt ond & o ara vl
STERGE ! 21T 3T 8, ot ST 59 UPR P B <X BT WIHhdT & Ao THen S| 39 $t w@nefi=ar & e it 3= far i 81 i,
I 98 3 1w, srcda =1 oI, o &, T & & ©, feare, geen, Mafaal o wwimal &1 - foan S smawae qwsn
T T UPR 4 39 1 g4 Wrei=a1 & &9 #, U SeH D gerd? @M UTI 3U S UTY &1 el 31T g8 HNTET U ¥eT 81 31 $t
TTefieT & HATH g A T Sege a1t SR MHraTd B G F WA guN 9 H U1 o, 3% oiftes wifda=mmedt o faam ofk guR W
HTH BT B g g ¢ [P 39 7Y, g1 211 & @ 9er 378 3R 37%-Q |l 1 wifckra’ gart s S@re # @it § ok 3w & Aorgt
URTAY, WU 3R ST BT Iy RITUT B T 81

ITe T P! UgHT H1E U T UY BT IR T84
- dEw o A 5 ara FY Srend) #) argar 82

1. A U BT TSIIC

2. $AA TIR-UER B TS

3. Had G B TSI

4. SRYad gt

Correct Answer :-

. SWRIad gt

16) 3 HA Fe IH A ¥ anlt

wy <ft, g e gH UL, STt 371-3RT T WA
wy <ft, g9 ¥ 591 9 AR, 9 fdad d@¢ gHRTI

Y SfY, g SIu® g aTdl, Wt wifa & 3

wy SfY, g W g9 YW, S e e germi

vy ff, g9 Wt 59 g, U ufd Y e

ST T B UgHR K YD T Y PT SW Iq153:
vA- P A A AR e #1 wafgar 6 @2

1. ATfeIepT

2. QIR

3. Qo

4, Mg

Correct Answer :-

o TIRTH

17) 39 A Fe I AM I ARl

WY oft, g9 de g9 U, JIT S-S a1 ||
WY oft, g9 99 999 g9 |1, 9 Ridad 3¢ gk
Y Sft, g7 U &9 T, STt Sifa ¥ fo et
wy <ft, gu w50 >, S WAfE frea gem
wy <ft, g0 anft g9 I, W yida s el

IWI UL P UGHR 1 U T UY BT 37 aT38:
WR- SATPT S-S T FHE A qr B1 31 32
1.9

2. STt

3.9

ERCIE]

Correct Answer :-

18) EHFAFE I AR AR
wy <ft, g de g9 U, St S-S I IuT |



Y i, g0 991 91 gW AR, 9 Rraad 9 aoRT|
Y oft, 9 U gH aet, STt sifer & foeT 3t
wy <ft, g Wit g9 4mT, 9 |iAfE forad genm|
WY oft, g9 w@rft 59 grn, R ufds sy g

ST TN P UGHR A1 I ¢ U BT S 9aT58:
w=- T & wwa 82

1. 6g gAY

2. SGYHT THY

3. T2 GHN

4, FHYRY T

Correct Answer :-
. GE AN

19) 3F &Y Fe I M I ARt

WY oft, g9 de g9 U, It S-S a1y T
WY Sfl, g9 ¥ 99 g9 {1, 9 Riaad 9e g RTI

wY Sft, A U &9 aTell, STt Sifa 9% fo

wy Sft, g0 Hidt g9 4mT, 9 \AfE foraa genm|

WY oft, g9 wari 9 g, Wi ufds & g

IR U P UGHR 1 I T YY BT 37 IaT38:
WRA- H T YT YeTar BT 4 FaT 32

1. SIS T AT

2. 9 H sifaera R s

3. JH & 90 deT

4, 3= UTGSH BT

Correct Answer :-

. 3D UG B

20) 39 HA Fe IW AW e Artt

WY Sft, g9 de- g9 U, ST SRS a1 A |
Y <ft, g0 99 99 g9 U1, S fRrdad 9¢ a@ R

Y oft, 9 U g aet, STt sifer & faeT 3t

WY oft, g9 At g9 4T, S WiAfE frea ggrmi

vy Sft, gH T g e, RN ufd s Yemm

ST TN P UGHR 1Y U T WY BT SR 9aT58:
WRA- TR Ul ® A & @ S gopia Weg T8 82
1. dlU-ardt

Correct Answer :-

. du®-ardt

21) 39 A Fe 7 A e At

uY oft, g de g9 U, STt S1-3 91 Jue |
WY Sft, g9 ¥ 99 g9 {1, 9 fRaad 9¢ o RTI

Y ofl, 9 U gH aret, STt sifer & foer 3t

wy oft, g Wit 9 4R, S |AfE foraa germ|

WY oft, g9 w@rft 9 grn, R ufds sy g



SUYFT UL B IgDHR A1 I TT UY BT IR dad133:

WRA- TR UfTal ¥ Ygr g o fr- i axg i #t Sumr da @2
1. %ad STt

2. ad U

3. ad Ut

4. WY It

Correct Answer :-

. IWRIad gt

22) 39 A Fe IH A1 € Artt

WY oft, g9 e g9 U, JIt S-S a1 |
Y oft, g0 ¥4 99 g9 U1, 9 frdad d@¢ aoRi

Y Sft, A U &9 T, STt Sifa ¥ o et

WY Sft, g9 At g9 4T, 9 WiAfE fraa ggrmi

WY oft, g9 ani 59 g, Wi ufds & e

ITI U P UgHR 1 I T ¥Y BT 37 aT33:

WRH- YR Ufcrral # »fa A {9 srawt &1 quiF frar 82
1. AP T

2. OIS Herd T e T OlTell @

3. 91§ Had R Hfed &1 17 I¢ ST 8

4. 99 UG BT A Yo g1 el §

Correct Answer :-

. 6 Had R HiFT BT I¢ ST &

23) 34 $H Fe I A ¥€ ATft

WY Sft, g9 da g9 U, ST SRS a1 A |
WY Sft, g9 9 99 g9 HRT, 9 fRaad 9¢ aoRTI

wY Sft, A U g9 a1, STt Sifa 9% fo Wt

wy oft, g Wit g9 4mm, 9 | foraa germ|

WY oft, g9 @t 59 gran, R ufds sy e

ST TN P UGHR A1 T T WY BT S 9aT58:

WH- U Ufdral B for U R 91 uida-urae ot siftreafea g3 82
1. ST Y BIS 71

2. T Y1G

3. &7 WG

4. T yrg

Correct Answer :-

e QY HIT

24) 39 A Fe IH A1 € Antt

WY oft, g9 e g9 U, FIt S-S a1 T
WY Sft, g9 ¥ 99 g9 {1, 9 Riaad 9e g RTI

Y oft, 9 U gH ae, STt sifer & foe 3t

wy <ft, g Hilt g9 UFT, 9 |AfE foraa genm|

WY oft, g9 w@rft 9 gran, R ufds a3 e

ITRF U P UGHR 1 I T YY BT 37 aT38:
URH- T Weg 87



1. gfeT

2. Tt

3. TH AP TG
4. IHTIHT

Correct Answer :-

25) 39 B Fe IH A1 € At

WY Sft, g9 e g9 U, ST SRS a1 "HrE |
vy Sft, TH 99 991 g9 HRI, S Raad 9 geR|

wY oft, g9 U 9 9, st sifa o famr et

WY Sft, g9 At g9 4T, S WAfE fraa germi

vy ft, g T g g, ¥ ufda a Yo

Iudad Ui F1 UG R T T U BT IR qargd:
URH- TR TRl © i F1 o a1d B e T i @2

1. Hiclt H 4R ST B

2. e f

3. QY S B

4. HAH BT

Correct Answer :-
o Y-AH B

26) 39 B Fe IH A1 € ARt

WY oft, g9 e g9 U, It S-S 9y T
WY oft, g9 99 999 g9 |1, S Ridad 3¢ aoR1I

wY Sft, g7 U &9 T, STt Sifa ¥ o

WY Sft, g9 At g9 4T, S WAfE frea germi

wy <ft, g Tnft g9 g, W uida s el

ITI U P UgHR 1 I T ¥Y BT 37 aT58:
W= - e fFaat wiss o= ared 82

1. 399 9 forelt &1 78T

2. TR BT

3. QI Bt

4. AHR B

Correct Answer :-

. T 3 foddl b1 et

27) 39 A Fe IH A1 € ARt

WY Sft, g9 e g9 U, It SH1-ST a1 ||
wY Sft, TH 99 991 g9 HRT, S Raad 9 aeR|

Ty Sft, A AU 59 a1, STt Sifa ¥ fa=

WY Sft, g9 At g9 4T, S WAfE frea germi

wY Sft, g0 T gw T, TR i B ¥emi

Iuda Ui F1 UG R T T U BT IR qarga:
TH- Riaad 9g TERT § $I9 AT IHEPR 32
1.9

2. GH%



3. 3UHT
4, 3IU™

Correct Answer :-

28) 39 HA Ye IW AW e Artt

WY oft, g9 de g9 U, ST SRS a1 Ui |
Y <ft, g0 99 99 g0 U1, S fRrdad ¢ a@ R

Y ofl, 9 U g ae, STt siifer & faeT 3t

wy oft, g Wit g9 4mm, S |iAfE foraa germ|

vy Sft, g7 T g e, A uid s Yemm

ST TN P UGHR 1Y U T WY BT SWR 9aT58:
- U $T yaraardt T8 2

1. TifeE

2.4y

3. 4

4.9

Correct Answer :-

29) 39 B Fe IH A1 € ARt

WY Sft, g9 e g9 U, ST SRS a1 ||
wy oft, g0 99 99 g9 URT, 9 fdad d9¢ aoRTl

wY oft, g9 U g9 9, St sifa o foer et

WY Sft, g9 At g9 4T, S WAfE frea germi

wy oft, g Tl g g, ¥ uida &Y Yo

Iuded Ui B UG R TR T U BT IR qarga:

WRH- U TR WIaT 3R Had @) gerqr i Sl | A St g 32
1. dluch-aelt

2. ISHI-ASHI

3. geaA-url

4, Tc-4mT

Correct Answer :-

30) 39 $A Fe I A I ARN |

Y Sft, g9 T 9 U, STt S-SR 91 [ |
Y SN, g9 99 991 g9 URT, 9 Rqad ¢ a@R

wY Sft, g0 U &9 aTdl, STt Sitfa &Y o et

Yy Sft, g9 Wt g9 umm, 9 WAfE frea germ

WY SfY, g T g9 o, Uit widd Y Yer|

I UL H1 UgH 1 YD 7T ¥y BT IR Ta13:
W=H- U iRt & TaRar & 82

1.3E9

2. |1

3. gordt
4, HER



Correct Answer :-

Topic:- Social Science (SSC)

1) Who said that, "The President occupies the same position as the King in the British Constitution”. / fraa wer UT fav', ~fafesr
SifeT & Tgufa, TS S T I TE0 Ha1 21

1. S. Radhakrishnan / TH. TYTH T

2. Dr. B.R. Ambedkar/ng. 3R, ESH

3. Dr. Rajendra Prasad / SI. Iok= TG

4. V. V. Giri /dtdl AR

Correct Answer :-

« Dr. B.R. Ambedkar /33[1. &).3R. ESHT

2) Who was the ruler of Gujarat when Mahmud attacked Somnath Temple? / 519 HGHG A AHATY | R gHar fpar u,
I UG ORI $T ATHD B 412

1. Bhim Dev / HiH ¢a
2. Mula Raja / 1T TS
3. Siddha Raja / Ry ST

4, Kumar Pal / $HR UTA

Correct Answer :-

o Bhim Dev / ﬂﬂﬂéa

3) Which of the following is the mausoleum of Muhammad Adil Shah of the Adil Shahi dynasty? / frafafaa # 4 snfea

TMME! 9T & YgWig AT TE BT AHERT B AT 82
1. Gol Gumbaz / TTIeT %ol

2. Juma Masjid / SITHT AT

3. Taj Mahal / ATSTHGA

4. Qutub Minar / $gd HHR

Correct Answer :-
+ Gol Gumbaz / TTI<T [HES]

__inthe Constitution set forth the humanitarian social precepts that aim at social revolution. / ICUICE:] G|

mmmaﬁﬁmmmmmm%
1. Right to Equality / SHTdT &7 SHIHR

2. Right to Equal Protection / T8 UR&U &7 SHABR

3. Right to Education / R8T &T 3fI&R

4. Directive Principles of State Policy / I & Aifd e aa

Correct Answer :-

 Directive Principles of State Policy / IIsd ¥ =fa fcwe aa



5) The test that predicts the performance of individual in a particular field is: / Q'HT e o 5t faRw e A aafa &
USRI BT qaiqa Bl &:

1. Diagnostic test/ Ferfe gdteror

2. Prognostic test /Q\GTT?FI TRi&or

3. Achievement test / SUTTS TRI&UT

4. Teacher made test/ fR1&1e GRT fobam 71 Tigror

Correct Answer :-

+ Prognostic test /TJI‘T’:FI’FI e

6) Which among the following correctly represents the Honduran Emerald? / FafafRadd s ﬁw UGS Cg|
| avE 3 guIiar 82

1. A beach in Honduras / m LR g dc

2. An endangered bird of Honduras / @w HI Uh JuIvrT Teft

3. An ore found in Honduras / Eﬁm T U S 9Tl U 31%h

4, An island in the Atlantic Ocean / 3cqifed R H U giu

Correct Answer :-

« An endangered bird of Honduras / @w HI Th JuIvrT geft

7) Pohang Iron and Steel Company is from which among the following countries? / fFrafafaa & S et smRa s
ol fpadua e

1. South Korea / Gferor iR
2. North Korea / 30X IR
3. China / iG]

4, Japan / ST

Correct Answer :-

« South Korea / G&0T HIRAT

8) Hubbert peak theory is related to which of the following? / o R Rigid Fafafea 7 @ fraa wdfta %?
1. Currency Trade / &I HTUR

2. Petroleum / a’c,ﬂm

3. Metabolism / IITIIY

4. Nuclear Energy / UXHIT] ol

Correct Answer :-

« Petroleum / aaﬁﬂq
9) Who is the administrative head of Prime Minister’s Office? / WUTTHH! HHATaY & U= WG B 82
1. Prime Minister / TeTTHAT

2. Principal Secretary / U4 gfa
3. Cabinet / Afdsd



4, Cabinet Secretary / AfHsa afka

Correct Answer :-

« Principal Secretary / YT gfa

10) A type of evaluation which is used to improve and monitor the progress of students and teachers is: / Uh YhR

1 qeui ¢, S B R el & yfy § gur ok PR & R o smar @)
1. Formative evaluation / T Hcih

2. Norm-referenced evaluation / AFd T (id H™ihT

3. Summative evaluation / ATTHH Hlib

4. Criterion-referenced evaluation / AFGS Wafid Hdih

Correct Answer :-

o Formative evaluation / T THD W

11) Mind is a ‘Tabula Rasa’. Who said this? / 1 T ‘dqeiT ¥’ (Tabula Rasa’)% qg g Dol?
1. Immanuel Kant / SHTJUT Hic

2. Michel Foucault / FlIRId U@'ﬁ

3. Friedrich Nietzsche / ThaRd® =&l

4. John Locke / S @i

Correct Answer :-

o John Locke / SIGKNIE

12) Before Ashoka became Mauryan king, which province did he serve as governor? / 3N WY e 91 | Tgd fbw

i # I7UTd & U H $1d Hed A2
1. Taxila / T&TRIET

2. Vaisal /Eﬂm

3. Pataliputra / tITEEﬂ'Eﬁ

4. Ujjain ) Jool

Correct Answer :-

« Taxila / F&TRIT

13) The First Factory Act restricting the working hours of women and children was adopted during whose time? /

afgens ok a=if & H & el &) uladfia $= arar ygar sr@n siftfay fFad aua & sro=mar war 312
1. Lord Ripon / @8 U=

2. Lord Lytton / @S fere=T

3. Lord Bentinck / @S Sfcd

4. Lord Cornwallis / IS ST

Correct Answer :-

« Lord Ripon/ qrs =



14) The term Isostasy describes: / H-Tqa- g FH BT SqRSAT Bl 2
1. The state of disruption / faueT &t Rufa

2. The state of balance / T 3t fRufa

3. The state of uplift / SITUT AR

4. The state of subduction / FEEaT &t fRUfd

Correct Answer :-

« The state of balance / T 3t Ry

15) The song ‘Amar Sonar Bangla’ written during the Swadeshi Movement of India inspired the liberation struggle of
Bangladesh and was adopted as the National Anthem of Bangladesh. Who wrote this song? / W%Wﬂ Gﬂaﬁq &
R ford 1Y 7t R WFIR Fiva 7 Fivares & Serd) & dad o Ui i ok 39 s & I T $
U H AT T I i e fran 82

1. Michael Madusudan Dutt / HIRH T HYJaT ad
2. Mukund Das / §b& G-I

3. Bankim Chandra / §fchd 9%

4. Rabindra Nath Tagore / &Y TR

Correct Answer :-

« Rabindra Nath Tagore /X dETY IR

16) The coral reefs are the marine counterparts of which of the following? / UdTel Aq Qﬁrm', Frafafaa o @ feast
I ufouer 82

1. Savannahs / SWH LN U1 A (FaHT)
2. Scrubland / U (FHETS)

3. Temperate forests / BSERIRILYICE]

4, Tropical rainforests | Susfeddty auf.aq

Correct Answer :-

« Tropical rainforests / U ese auf-aq

17) The Head Office of Export Promotion Council for Handicrafts (EPCH) is located at? / Eﬁﬁl?q frafa "gadq qﬁ'ﬂ?

(SUriiTe) &1 geey gei {82
1. Delhi / f&et

2. Jaipur / STAYR

3. Varanasi / JRTOT

4. Kolkata / IcepTdl

Correct Answer :-

« Delhi / faean

18) Which one of the following aroused a wave of popular indignation that led to the massacre by the British at

Jallianwala Bagh? / Frgfeifaa & @ frw ue 3 dio g mp i &1 dex 51 $= &I P SrRr SRS gRT Sfeaiarar
T H TRYER §3i1?
1. Government of India Act 1919 / HRd IR®R AITH 1919



2. The Rowlatt Act / & JIeic T (SBTell SBILT)
3. The Arms Act / 3TgY 3w
4. The Vernacular Press Act / GTageR U Ta

Correct Answer :-

+ The Rowlatt Act / G X[l UdT (BT HIIT)

19) Which one of the following is not a method used for the assessment of personality? / eI & THa & ﬁl’({

SYIRT Ft 7 arelt fafy Fafafea d @ s @i e
1. Project method / FATSTT fafer

2. Projective method / &Y fafey

3. Objective method / MY fafey

4. Subjective method / TS fafdr

Correct Answer :-

« Project method / TS fafy

20) Which is not a third Century BCE stupa? / GIRERIGICH g'FIT Qﬁ BT U A k)| L %‘?
1. Dhamek Stupa / Wﬂq

2. Kesaria Stupa / Wﬁq

3. Amaravati Stupa / 3TERTI X4

4. Sanchi Stupa / Tiht X4

Correct Answer :-

« Dhamek Stupa / Wﬁq

21) Which is not a structure in the premises of Qutub Minar? / $dd TR & R & S A W= qﬁ%"
1. Quwaat ul Islam mosque / Podd 3¢ LXITH Ilm_d

2. Alai Darwaza / G'IFI'Ié [REIEI

3. Aibak’s Magbara / U§® &1 HHERT

4. Tron Pillar / T T HT

Correct Answer :-

 Aibak’s Magbara / Qa?b_ D[ Hh R

22) Which is the first Biosphere reserve in India? / HRd - | qgdl TR R Red mf&l_d ﬁmﬁm Cack:l %?
1. Sunderbans Biosphere reserve / w W ﬂTrl_qc

2. Nilgiri Biosphere Reserve / :ﬂﬂm W ﬂTYl_q;

3. Nanda Devi Biosphere Reserve / a1 é?ﬂ TARRPIR Rod

4. Gulf of Mannar Biosphere Reserve / HAIR Cil E'I_&p[ IEfRpTR ford

Correct Answer :-

« Nilgiri Biosphere Reserve / Tt srafers Red



23) Which Gupta king contested the Huna according to Bhitari Pillar Inscription? / FireY WY R & IR foa
T ST A AT & forg e {3 e

1. Samudragupta / G
2. Chandragupta IT / FEW 11
3. Chandragupta 1/ I [

4. Skandagupta / Th G

Correct Answer :-

« Skandagupta / Th G

24) Which among the following was the last European country to rule Goa? /

frafafaa & e R IrHa $A arar sifow RIdg 3 Hi a1 912
1. Netherlands /?ﬂﬁ?ﬁ'?s’

2. England/g"ag

3. Portugal /EE&HT’[

4, France / I

Correct Answer :-

« Portugal / g?f"'ﬂ?l

25) Which among the following is known as “Coffee Port” of the world? /ﬁ'ﬁﬁ'@a 7 fera ﬁ"a’ & BB A & *q
W ST ST 82

1. Santiago / aﬁﬁﬂ"'ﬁ

2. Santos / @'cﬁ

3. Rio de Janeiro /W@ﬁﬁ
4. Buenos Aires / &1 Khipape]

Correct Answer :-

 Santos / I

26) Which metal was unknown to Harappans? / P I I TSWH 3MITd q?
1. Bronze / BT

2. Silver / X8[d

3. Copper / GIEl

4. Iron/ ?ﬁ—ﬁf

Correct Answer :-

. Iron/?‘ﬁ_s'

27) Which Constitutional Amendment Act removed Right to Property from the list of Fundamental Rights? VAL 2|

TauTfae T=iteA e A Wuly & sifieR &) Mifere sifterl @) gt & ger fear
1. 420 /429

2. 41t /419



3. 46 / 469
4. 441 / 449

Correct Answer :-

. 44t/ 449

28) To promote equity in agriculture the government had introduced system where the maximum size of land which could be
owned by an individual is fixed. / FT & g &1 agmar 37 & g wWeR A yorTet 3= Bt Y, R v afe g w@rfieq
yftr &1 iftrpan smeR Faa @1

1. Land ceiling / 4 SiferT (dfs wiferm)
2. Land reform / 4 GuR

3. Land Parcel / Y4f¥ urf@

4. Land fixation / Y&y fefRor

Correct Answer :-

« Land ceiling / 4ffy 9iferT (s Hifemm)

29) Second five year plan was popularly knownas ./l vaaffadsi sl defawud & 99 & &= o ol
1. Gandhian Model /Tﬁ%ﬁaﬁﬁsa

2. Nehruvian Model / ﬁ%ﬁﬁﬁ ored

3. Mahalanobis Model / mﬁﬂﬂv@

4. Harrod-Domar Model / %Q S-SR Alsd

Correct Answer :-

e Mahalanobis Model / HTe-eg Alsd

30) Match the educationists with their contribution. /ﬁl&ﬂﬁa’ Cakeerd tﬁTI'c.'F-l 3 fremE o3|

Educationists Contribution
a. Lev Vygotsky / Toig i. Project Method / Uisige
arsaicash! afer Yo fafe(
b. BF. Skimmer / &7 ii. Constructivist Leaming /
S TIAEE A
¢. Kilpatrick / foreritfes iii. Jurisprudential Inquiry /

faferemes gt ar=

d. Donald Oliver & James P. Shaver | jv. Programmed Leaming /
/B1es Fhfeat HREFE f. | Fiwaes s
ey

1. a—(iv); b — (iii); ¢ — (ii); d - ()
2. a— (i); b (ii); ¢ — (iii); d — (iv)
3. a— (iii); b— (ii); ¢ — (iv); d — (i)
4. a—(ii); b — (iv); ¢ — (i); d - (iii)
Correct Answer :-

e a—(ii); b (iv); c — (i); d — (i)



31) Which is the process of assessing the progress of learners by identifying areas of difficulties through diagnoses and remedial
actions as part of the instructional process? / =TS Ufthar & R F Tu A M 3R STaRTHS 1Al F Aoy A sfsArgal & &=t
BT U TP AT BT WA BT SMHe B B Uishar 71 52

1. Summative Evaluation / T Yedie
2. Final Examination / 3{fca gl

3. Integrated Evaluation / Ubigrd Heichd
4. Formative Evaluation / Fafoneres i

Correct Answer :-
« Formative Evaluation / Fafoneres geuie

32) Which is the forest conservation movement in India where local people prevented the cutting down of trees? /HRE § B T 9

TREJUT 3fiEter @ STel VI @11 U ) Hre | b 82
1. Bhoodan movement / Y& SiGia

2. Cooperative movement / TEHINGT 3ficia

3. Consolidation of land / 'ﬁ[&( Gal WUT

4. Chipko movement / [ECEAEIARE]

Correct Answer :-

+ Chipko movement / o 3figia

33) Which of the following is the correct psychological way of proceeding in Social Science teaching? / Frafafaa A &« gmfore

FgTT FRIAOT & ST 92 T SR FARD Tt 22
1. Difficult to Simple / H3- I T

2. Concrete to Abstract / EL?f@f GIHET

3. Unknown to Known / S{JTd Qi‘ﬂﬁ

4, General to Particular / 9THIT J ﬁﬁﬂg

Correct Answer :-

 Concrete to Abstract / %h}f &Iﬂ:cf

34) Which among the following is an example for non-institutional credits? / fFrafafaa & ¥ $i9 91 R-TRFE I/ & o Ts
IR 37

1. Regional rural banks / &1 greftor S
2. Nationalised banks / TI'@T@?I I5

3. Moneylenders / 9IghRR

4. Cooperative banks / EBT:FI'\PI Sb

Correct Answer :-

» Moneylenders / HIgPR

35) Which among the following is a non-conventional source of energy? / fFrafafEa % 3 o9 91 Suf $1 e R-wwRrEa da @2
1. Natural gas / Wﬁﬂ

2. Petroleum / a@ﬁﬂﬂ

3. Coal and lignite / BT 3R ﬁ'l'ﬂ'l%?:’

4. Wind energy / d- 3l



Correct Answer :-
» Wind energy / Ud- ol

36) Projective techniques are used for the assessment of one’s J fosdt Wa? F H@'ﬁ)_'{ F ﬁl'l!'
Weifaed a@-ie! T SN fFar ST g |

1. Development / fawr
2. Personality/m
3. Growth / 3G

4. Intelligence / §@

Correct Answer :-

* Personality / Hfadd

37) is a policy which aimed at replacing or substituting imports with domestic production. / w:ﬁﬁ%ﬁw
I AT B TR IeTe A WARATRT 31 a1 @ 711

1. Balance of trade / SATUR e
2. Balance of payment / HTTdT Hda
3. Export reduction / fafa FABIO

4. Import substitution / ST HfRITG

Correct Answer :-
« Import substitution / 3TATd YTaRATGT

38) observed that ‘Social Sciences is perhaps the singular curricular area which can prove to be the most effective tool for
providing education in the context of all the core components envisaged by National Policy on Education.’ / A urar f&

IS AT, WS Ted ured &7 8 <t e w gty Hifa grt ufvesfera @it ger geet & de & Ria ver w31 o1 gad yHrdt
USR] HIfed g AP I’

1. National Curriculum For Elementary And Secondary Education (1988) / Ui 3R ATeafiies e & forg QT@T{ TrédashH (1988)
2. National Curriculum Framework (2005) / TI'@H Tt Bt TRl (2005)

3. Secondary Education Commission (1952-1953) / ATexiftes RIef ST (1952-1953)

4. A Framework of NCERT (1975) / TSR} &) T ST (1975)

Correct Answer :-

» National Curriculum For Elementary And Secondary Education (1988) / TTyfirer iR mreafire e & o TIEQIH TTSdshH (1988)

39) Who said that, “The United Nations was not created to take humanity to heaven, but to save it from hell.”? / WWTQZ

"I TP AHEA B T A o 914 P e 78 S T o, 3§98 NP 99 F e s man ani 2
1. Dag Hammarskjold / 37 SARESICS

2. Antonio Guterres / GeITa [exd

3. Boutros Boutros-Ghali / S SAG-Tel!

4, BanKi—Moon/ WM ®!-TH

Correct Answer :-

» Dag Hammarskjold / ST IRwIE

40) Who was the first Indian to be the Governor General of India? / HRd & HERISUUTA (TR S-IReN) g1 918 Ugel YRdg o= &2



1. C. Rajagopalachari / IT. JTSRTUTCIATRT

2. Fakhruddin Ali Ahmed / TTEI%E A 37cH 36HG
3. Lal Bahadur Shastri / TTc SgTgR Q!

4. V.V. Giri / dtdt. fiRk

Correct Answer :-

« C. Rajagopalachari / Tl. ISAIUTATER

41) Who upheld the view that religion can never be separated from politics? / o 3 TRFI B e @ 1% el @) weEifa @
Ht 3rerT 7Y fobam o wepan?

1. Dayanand Saraswati / GG IRead
2. Raja Ram Mohan Roy / TelT I HIg- 0
3. Gopal Krishna Gokhlae /ﬂwmi g

4, Mahatma Gandhi / HgTHT ieft

Correct Answer :-
+ Mahatma Gandhi / FgTeT Tieht

42) The process of transferring the income from asset owning people to non-asset owning people is . / ufeuRy & Arferes @
Y TR ufiufty & wafi ard di & Sma RIFaRd $3 31 ufear- el

1. Vicious cycle effect / g&deh UHIG
2. Trickle-down effect / TUH Rigid ([(Ha-S18 THE)
3. Balanced growth strategy /ﬁﬂ%ﬂq@@ “fa

4. Lorenz curve / @RS d5h

Correct Answer :-

+ Trickle-down effect / TUH RIG (e a-S18- Uuma)

43) The Members of Parliament are free to raise any matter that they think is important during ./ %F ?RFI W

¥ wow vt ff 5 W ) S & R WA B1d § o 9% T € e Heagf Rl
1. Question Hour / YYhTeT

2. Adjournment Motion / &[T U¥dTd

3. Half -an-hour discussion / 3178 ©ic &1 gl

4. Zero Hour / ][I
Correct Answer :-

+ Zero Hour / }[HDTA

44) Which among the following rivers is most described in the Rig Veda? / fufafea A F s @ A4} Bae ° I Siftrew
affa @

1. Ganga /T

2. Sindhu / g

3. Saraswati / SR
4. Chenab / foFTd

Correct Answer :-



« Sindhu /¢

45) Who among the following is the author of “Ain-i-Akbari”? / fafafada “W—E—\"Hﬁﬁ” PTAGSD DI %?
1. Ishwar Das /é’ﬁm

2. Abul Fazl / 3{geT Tholcl

3. Mulla Daud / J&=TT al$hq

4. Akbar / ShaX

Correct Answer :-
+ Abul Fazl / g ol

46) is a system where by the farmers pool their milk produced according to different grading and it is processed and marketed
to urban centres through cooperatives. / T U} sga=T 2 ogl forar srerT-arenT 9ot & AR 3T IaTfed G BT HUGUI A e
3R 58 ger! afafadl & Arww & Suifta vd wed) $=51 # fapa fear srar g1

1. Operation Mantra / 3ITOR=M #3
2. Operation Torrent / SHTRTA elke
3. Operation Serve / TR Id

4. Operation Flood / 3{TIRTM TS

Correct Answer :-

+ Operation Flood / 3{IRTH TS

47) Which of the following banks installed the first ATM in India? / ﬁ'ﬂﬁf@ﬂ Aa e de A YR & Ygdl Qﬁ@,’q yTfud far
1. ICICT / ST HtemsHens

2. HDFC / TISuwmdt
3. Yes Bank /ﬁ?{%

4. HSBC / TaUqeN!

Correct Answer :-

« HSBC / TIuded!

48) The Road Back to Nature is a book discussing the global ecology and destructive farm practices. Who is the author of this book? / ??3'

d% g Favafye ulfRfae! ok fmmer $ vsfoal w gaf 73 W6 e 1w 31 39 (W & aus S 32
1. Bill Mollison / fare Hifera

2. Albert Howard / 3{c8ic g1d8

3. Eliot Colman / TfeRIE Siera

4. Masanobu Fukuoka / TITIg G 3MehT

Correct Answer :-

+ Masanobu Fukuoka / IHT'_‘ﬁ@ %\’fﬁiﬂ

49) The learning strategy which is associated with 5 E’s (Engage, Explore, Explain, Elaborate and Evaluate) model is: /

STy oY St 5 € & W1y €Y g3 § (FaH, 33T, R, IR iR geuicT) uisd 8:
1. Constructivism / YA
2. Social inquiry model /leﬁgﬁ



3. Branching programming / RIRG- PIpIEe]
4. Team teaching / ¢ Rreor

Correct Answer :-

« Constructivism / GRIATATG

50) The process of collecting, analyzing, recording and interpreting information about student learning is known as: /

BE & AR F v # PR Thd B34, faxata $39, Reis F31 iR fad== $1 &) uftear &1 1 oar

CIGI %:

1. Role play / ﬁ?f @f

2. Assessment / 3{Th A

3. Testing / qﬂ&I'UT

4. Dramatization / ACH Y TUIAR

Correct Answer :-

« Assessment / SThcld

51) To choose appropriate teaching strategy, the teacher considers which of the following factors? /

Iugad fRreror Torifa g & g, Risre Fafafee & 3 5y one w® R swar @2
1. Sports/cultural days in the school / ¥hd B W/ fGad

2. Visits by inspecting authorities / FIRI&0T 31feremTiEl GRT YH0T

3. Abilities of the learners / RI&Ta} &t Frvgard

4. Year Plan given by the school / T3ITed §RT €1 7% IS g

Correct Answer :-

« Abilities of the learners / ﬁ[&'ﬂﬁkﬁ P Agar

52) The term “brainstorming” was first coined by: / Usq "feR-AYE" 99d ugd 3?%7 GRT U¥gd T T Ut

1. Osborn / &=
2. Johnson / SI-19
3. Caldwell Cook / FTeedd b

4. Bruner / X

Correct Answer :-

« Osborn / 3T

53) Idealism strongly promotes: / 3Teziare Tear f=1 &1 gegrar dar B
1. Source of knowledge is nature / YT I &1 Fd |
2. Senses are the gateways of knowledge/ FdeATY I &1 R gl

3. Axiological belief in absolute values / HE[Uf H\?Iﬁ T SfryTare) fayr
4, There are many truths as there are many paths / P T % FifP o3 T %I

Correct Answer :-

. Axiological belief in absolute values / TqUf T & STTaTE! fIyTT



54) To attend the individual differences in the class, what should the teacher of Social Science do? / PET H AfeTd 3ias)

P A & for, Irfore fagm &1 Ries: -

1. Uses variety of learning experiences /Tt siferme \3‘|ﬂ'1-|a3f P IUINT Hal %l

2. Gives different types of assignments / fafia TR & srHe (ﬁé-qf) ol %l

3. Conducts tests end of the week / TTTE b 3icl H TR0 ST X1 5 |

4. Makes sure all the students are present everyday / I8 JA12d BT ¢ fb Tt B & I IufRa &1

Correct Answer :-

o Uses variety of learning experiences /Tt siferme 3@“—@ P IUIRT Hal %|

55) The teacher shows photo copies of the letters written by Mahatma Gandhi while teaching a lesson on the struggle for
Independence to: / FRI&/® Tad=raT Tu¥ WR UTS UeTd §T Wt Mith gRT ford 71w u=At @1 wiel wifvuar safere feamar

1. Supplement the concepts with facts / T & AT SAUROMS DI \_rh?;ef & fam

2. Adopt deductive approach / IBEEIED BECANIEREIEE:] femy

3. Use problem solving procedures / STHIT JHTYTT gfeharaii &1 Tt &4 & forg|
4. Execute a project / RIS (EI-W-FE) D fFreried A & forg

Correct Answer :-

« Supplement the concepts with facts / T & AT SAUROMST DI S A% forg

56) Who set up the Indian Independence League? / YR o1 o feaa wiifud &2
1. Dadabhai Naoroji / ALY S RSN

2. Rashbehari Bose / INGGRI a1

3. B.R.Ambedkar / &1 3R, 3 EH

4. Mahatma Gandhi / HgTHT el

Correct Answer :-

. Rashbehari Bose / JTATSERT &I

57) CANCELLED

Which of the following is metamorphic rock? / Frafafea 9 S s« g™ EaE kil %?
1. Marble / TTHRHAR

2. Sandstone / I 3T YRR

3. Mica / 31Y®
4. Schist / e

Correct Answer :-

. Schist/ R

58) CANCELLED
Ajanta Paintings represent the scenes from: / 3{Sidl ¥ fo frT & el 1 gmifa %



1. Jatakas / ST Tl

2. Mahabharata / HeIHRd
3. Ramayana / XTHIIUT

4. Upanisads AR LT

Correct Answer :-

« Jatakas / SIhIdl

59) EBP stands for: / $4Iil &T facgd U &:
1. Evidence Based Practice / Qﬁ?‘;ﬂa@m

2. Evidence Based Problem / TfdS= a8 UlsiH
3. Education Based Practice / anﬂ 7 o9%e Ufdeg

4. Education Based Problem / Tgh R IS UlsaH

Correct Answer :-

« Evidence Based Practice / Qﬁ@%‘:{ IS Ufdeg

60) Density of population is computed by which of the following method. / ST HGIT * gcd 91 o A § 9 for fafy
ERT B AT B

1. Female population divided by area / A% A gRT fquTiord Afga S
2. Male population divided by area / A% d gRI faviford gy SHI=A

3. Area divided by total population / $& SIIREHAT gRT fAUIRSId & a

4. Total Population divided by area / 8 d GRT fAUTII Hdf SR

Correct Answer :-

« Total Population divided by area / Fhd gRI fauTfoa Pd SIS



